Kangaroo Math Competition 2020 (China) — Cadet

# 1. How many of the four numbers 2, 20, 202, 2020 are prime?
ENEE2, 20, 202F020204, BEBJL N 2EE?

(A)0 (B) 1 (C) 2 (D) 3 (E) 4

# 2. Which marked angle is the largest in these regular polygons?

£ NEIFREFr 2RI LNES RS, Bal— P R HRIRCHNEERA?

(A) (B) @ (€) (D) Y (E)

# 3. Miguel solves six math problems every day and Lazaro solves four math problems every day. How

many days does it take for Lazaro to solve the same number of problems that Miguel solves in four days?
MiguelBX#R6IEEF, MlazaroBXMEAEHF, HldlazaroRES/ DR A BEHT
MiguelfE4 KR FrfRRIEFR?

(A) 4 (B)5 (C)6 (D)7 (E) 8

# 4. Which of these fractions has the largest value?

BALTHB— o EaYERK?

# 5. There are 4 teams in a soccer tournament. Each team plays every other team exactly once. In each
match, the winner scores 3 points and the loser scores 0 points. In the case of a draw, both teams score 1
point. After all matches have been played, which of the following total number of points is impossible for a
team to achieve?

BIKECERPEASZERRA, T REESEAIKALLTZE—IR. 8—IpttE+, mMAIBAMEIS3
7, WHBAMEE0D ., FEEEHER T, MAMEDIIA1S. T TIEHEZE, BIAEKBAA
BIRESRILA TN 21?

a

(A)4 (B) 5 (C)6 (D)7 (E) 8
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# 6. A large square is divided into smaller squares. What fraction of the large square is shaded?

— N RIESFARS BV INEST. BIERRERD & T RIESRI LS ZIL?

(A)

ol >~

(B)

col w

(€)

O W~

(D)

N | —

(E)

W=

# 7. The diagram shows a shape made up of 36 identical small triangles. What is the smallest number
of such triangles that could be added to turn the shape into a hexagon?

ElHE2r~— 1 H36MERERN=AFFTERNER. BaE EEINS/ M EER/N=FF
7 gefE ELERZ R — 7 s ?

(A) 10 (B) 12 (C) 15 (D) 18 (E) 24

# 8. Kanga wants to multiply three different numbers from the following list: —5, —3, —1, 2, 4, and 6. What is

the smallest result she could obtain?
KangatB B NS HE =/ FRISEHHTIER: -5, -3, -1, 2, 4, F1 6, i
LASEIRISR/IMERZ?

(A) —200 (B) —120 (C) —90 (D) —48 (E) —15

# 9. If John goes to school by bus and walks back, he takes 3 hours. If he goes by bus both ways, he takes

1 hour. How many hours does it take to walk both ways?

NRJohnFETEFRATGEREIZR, tMFRE3I/NT, WWRMEFRAMEZREFEL, b
FELUNT, WSFJohn EEMEIZREER, BiafthFERwSD/I\T?

(A) 3.5 (B) 4 (C) 4.5 (D) 5 (E) 5.5
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# 10. A number is written in each cell of a 3 x 3 square. Unfortunately the numbers are not visible
because they are covered in ink. However, the sum of the numbers in each row and the sum of the
numbers in two of the columns are all known, as shown by the arrows on the diagram. What is the

sum of the numbers in the third column?

E3xEAFRIBNTRTTEFEN—NEF. FENR, BFREKEBEEE S
B2, 81T SEFRIIFRNEF 2 IE2EARY, ME PSR, B0
FE=FPREFRESD?

271 20 7

# 11. The shortest path from Atown to Cetown passes through Betown. The two signposts shown appear
along this path. What distance was written on the broken sign?

MABEICHARRIREFTELIIB, AR ERTHPHM TN EIR. 1BUERIRE
FERNEZED?

< Ai}ﬂZ/Atol;lm 2km | < AiﬁE/AtowT7 km |
T
| Bik/Betown 4 km > < B¥i/Betown é
I
| Cli/Cetown 9 km > Ch/Cetown 4 km >

i i

(A) 1 km (B) 3 km (C) 4 km (D) 5 km (E) 9 km
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# 12, Anna wants to walk 5 km on average each day in March. At bedtime on 16th March, she realized
that she had walked 95 km so far. What distance does she need to walk on average for the remaining days

of the month to achieve her target?
BEE=RIpBEEXYTES km, 3R 160MIGHER], WEREIBCERET
95 km, BEEIZBRRIRAVBABILR, BRHIFEERES VST “”‘*EUP'EZE"FEI’J B#xR?

(A) 5.4 km (B) 5 km (C) 4 km (D) 3.6 km (E) 3.1 km

# 13. Which of the following shows the view of the object from above?

BIELA T —MEILZE MR LA rE IR E?

X0 DX

# 14. Every pupil in a class either swims or plays tennis or both. Three fifths of the class swim and three fifths

play tennis. Five pupils both swim and play tennis. How many pupils are in the class?

RIRNE—(UFERBEARIITK, BASTINKSEZEEREARERS, ZIIOhDoZ= E’J?—_&._
K, ADZ=RIFESTTMNER, RESPZERSIF AN S MK, BazififaEbm
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# 15. Sacha’s garden has the following shape. All the sides are wither parallel or perpendicular to each other.
Some of the dimensions are shown in the diagram. What is the perimeter of Sacha’s garden?

FESTSachat R, R PNFTEISEAEETTHEEES, ERDER
H—ER, BESachalt TEERBKRSD?

(A) 22 (B) 23 (C) 24 (D) 25 (E) 26

# 16. Andrew buys 27 identical small cubes, each with two adjacent faces painted red. He uses all of these
cubes to build a large cube. What is the largest number of completely red faces of the large cube that he
can make?

Andrew LT 27MEREABVNEGIR, B—NNESAEBRMESBHEHIRKLIE, A
LEPRVINESARERER—NARIES R, BEfF AR KESAEZEZ/ P EELERRNAE
[9?

(A) 2 (B) 3 (C) 4 (D) 5 (E) 6

# 17. There are three squares in the figure below. The area of the largest square is 49 cm?, and the length of
ABis 5 cm. What is the area of the smallest (white) square?

EhERIMNEST. BANEATER49cm?, ABRHLES Scm., iSIS/ING (K
) [EATNERESD?

B

(A) 1 cm? (B) 4 cm? (C) 9 cm? (D) 16 cm? (E) 25 cm?
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# 18. Werner’s salary is 20% of his boss’s salary. By what percentage should Werner’s salary increase

to become equal to his boss’s salary?
Wernerfgk St g kEI20%, EIWemnertE K EERBINES 220786
fibETRAVFTKABE?

(A) 80% (B) 120% (C) 180% (D) 400% (E) 520%

# 19. Irene made a “city” with identical wooden cubes. The left diagram shows the view from above the
“city” and the right diagram shows the view from one of the sides. However, it is not known from which
side the side view was taken. What is the largest number of cubes that Irene could have used?

Irene 7 —ABRIMARRIES A 7—RE " . AAREHEREN EHSER
B " B, AORERERRIENEF—MIERERIRIE, (EEAANERB2F0MITE
El. i5Alirene&xZ AT SV NIESIR?

O O
O | O
oo ﬁ
oo 0 HHm
(A) 25 (B) 24 (C) 23 (D) 22 (E) 21

#£ 20. Aisha has a strip of paper with the numbers 1, 2, 3, 4 and 5 written in five cells, as shown. She folds the
strip several times so that the cells overlap, forming 5 layers. Which of the following configurations (from top
layer to bottom layer) is not possible to obtain?

B, AishafYRF ERIRANMIMEFES RIS EHE1, 2, 3, 4F05. MSHRFCER
FMEZIR, ERSE. B T—NMEE (N LEEREER) SAF8eEEIRY?

(A)3,5,4,2, 1 (B)3,4,5,1,2 (C)3,2,1,4,5 (D)3,1,2,4,5 (E)3,4,2,1,5
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5 points

# 21. Twelve coloured cubes are arranged in a row. There are 3 blue cubes, 2 yellow cubes, 3 red cubes
and 4 green cubes but not in that order. There is a yellow cube at one end and a red cube at the other

end. The red cubes are all touching. The green cubes are also all touching. The tenth cube from the left is
blue. What colour is the cube sixth from the left?

TEANEBM SR —HE. B3NEBIIITIR, 2NEBIMGF, 3P IBMTSRIIANEE
MR, BEARERXMAFER, EP—mE— 1 EEISGT, B—kmE—MaIII51F.
TERSISRERE—R, SBMSHREEETE—RE, NESE TSR NER, BaNEE
BINDUS R AEE?

(A) green (B) yellow (C) blue (D) red (E) red or blue
R ] i) a6 TEEEE

# 22. Zaida took a square piece of paper and folded two of its sides to the diagonal to obtain a quadrilateral,
as shown below. What is the largest angle of the quadrilateral?

WNEFR, Zaida EH—KIESAR, SEMOXTE B, Fa— P IaR. Ealtt
WUEHERAABRESZ?

(A) 112.5° (B) 120° (C) 125° (D) 135° (E) 150°

# 23. How many four-digit numbers A are there such that half of A is divisible by 2, a third of A is divisible
by 3, and a fifth of A is divisible by 57

BREZONMUUEA, TEEUATERE: AN—Fa#28R, AN=222—rI# 3%,
AR Z— R #R5EEPR?
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# 24. In the final round of a music competition, each of the three members of the jury gives the five
competitors 0 points, 1 point, 2 points, 3 points or 4 points. No two competitors get the same mark from any
individual judge. Adam knows all the sums of the marks and a few single marks, as shown. How many points
did Adam get from judge 1117

I EREENRES, —(UFEPNE(IYERINSHEE 09, 199, 29, 3054
7. BRI SRESMNE—OTEINMEEMENS 2. MEFR, AdamiliE rE8—SEEN
BORINMN AR, BiaAdamMNE=MFPHRBBEERI T S/047?

Adam | Berta | Clara | David | Emil
I 2 0
I 2 0
[l
[sum/g5 7| 5| 3| 41 11
(A)O (B) 1 (C) 2 (D)3 (E) 4

# 25. Saniya writes a positive integer on each edge of a square. She also writes at each vertex the
product of the numbers on the two edges that meet at that vertex. The sum of the numbers at the

vertices is 15. What is the sum of the numbers on the edges of the square?
Saniyaff—MNEAAIE MO EE—NEEY, EE8NRAE THERZ TR TRAY
PO ERIE SRR, PONRRUERYER 2 R0915, BRIES L LRV EME S D?

(A) 6 (B) 7 (C) 8 (D) 10 (E) 15

# 26. Sophia has 52 identical isosceles right-angled triangles. She wants to make a square using some of them.

How many different sized squares can she make?
SophiaifiB 52 MERENFEER=AF. WERAEPHN—LC=BIEk— " 1ELF. B0
eI LAE R Z DN AR R T RIETS FZ?



Kangaroo Math Competition 2020 (China) — Cadet

# 27. Cleo builds a pyramid with metal spheres. The square base consists of 4 x 4 spheres as shown in
the figure. The floors consist of 3 x 3 spheres, 2 x 2 spheres and a final sphere at the top. At each point of
contact between two spheres, a blob of glue is placed. How many blobs of glue will Cleo place?

CleoRi€RIEEEFE., WMERMR, [ESTERERAxANKAER, B _EH3%3
RUBKRERY, SB=EM2x2RIBKAER, TRESEH—PEMRAM. TR MERKIAZ ERIENET
R, B —ERUK. BACleoBE RS iRIIK?

# 28. Four children are in the four corners of a 10 mx25 m pool. Their trainer is standing somewhere on
one side of the pool. When he calls them, three children get out and walk as short a distance as
possible round the pool to meet him. They walk 50 m in total. What is the shortest distance the
trainer needs to walk to get to the fourth child?

BONEF D BIEE—110 mx25 maSiEFkitANMEE, B 8GRubEimKit—MRY
Ry, StUEFIRRHE, B=1arEdimKtiiEsE, UsENEESit=HE,
it J2ILE T 50 m, BEIRGEER BN L AREIREESESD?

(A) 10 m (B) 12 m (C)15m (D) 20 m (E) 25 m

# 29. Anne, Boris and Carl ran a race. They started at the same time, and their speeds were constant. When
Anne finished, Boris had 15 m left to run and Carl had 35 m left to run. When Boris finished, Carl had 22 m left
to run. What is the race distance?

Anne, Boris, #1 Carl ZI0MELERE. RN EA, FEMIISERLATERERE. 4
AnneffIX£2 AT, BorisiEZE15%, MiCarlifZE35m, ZBorisiiA&mAY, CarlifZE22m, i&d
Xz L RIS R D ?

(A) 135 m (B) 140 m (C) 150 m (D) 165 m (E) 175 m
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# 30. The statements below give clues to the identity of a four-digit number.
LATRBRIA SRR 7 R TFT— MRS R,
Two digits are correct but in the wrong places. BRNMELERN, BEUERER.
@@ One digit is correct and in the right place. §—RIERNY, BN EHIER,

@@ Two digits are correct with one of them being in the right place and the other one
in the wrong place. FEMIZIERRY, HP—MEEH, B— P HRMCERR,

One digit is correct but in the wrong place. B—MIRIEHAY, (BEMNESEIR.

@ None of the digits are correct. ;B IFFEAIEE.

What is the last digit of the four-digit number?
BAEX NN RE— R L?

(A)0 (B)1 (C)3 (D)5 (E) 9

END OF PAPER

10
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# 1. How many of the following four numbers 2, 20, 202, 2020 are prime?
(A)0 (B)1 (C)2 (D)3 (E) 4

SOLUTION:

# 2. In which of the regular polygons below is the marked angle the largest?

(A) (B) @ (C) (D) (E)

SOLUTION:

# 3. Miguel solves six Olympiad problems every day and Lazaro solves four Olympiad problems
every day. How many days does it take Lazaro to solve the same number of problems as Miguel solves
in four days?

(A) 4 (B)5 (C)6 (D)7 (E) 8

SOLUTION:

# 4. Which of these fractions has the largest value?

(©) &8 (D) 542 (B) 525

(A) 552 (B) 5

8
=/ 73 3+5

SOLUTION:

# 5. A large square is divided into smaller squares. In one of the squares a diagonal is also drawn.
What fraction of the large square is shaded?

(A)

[SA{E
—
s
N~—
0ol
—~
Q
SN—
Ol
—
S
Ll
—
&=
S—
[N

SOLUTION:

# 6. There are 4 teams in a soccer tournament. Each team plays every other team exactly once. In
each match, the winner scores 3 points and the loser scores 0 points. In the case of a draw, both teams
score 1 point. After all matches have been played, which of the following total number of points is it
impossible for any team to have scored?

(A) 4 (B) 5 (C)6 (D)7 (E)8

SOLUTION:

# 7. The diagram shows a shape made up of 36 identical small triangles. What is the smallest
number of such triangles that could be added to the shape to turn it into a hexagon?

1
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(A) 10 (B) 12 (C) 15 (D) 18 (E) 24
SOLUTION:
# 8. Kanga wants to multiply three different numbers from the following list: —5, —3, —1, 2, 4, and
6. What is the smallest result she could obtain?

(A) —200 (B) —120 (C) —90 (D) —48 (E) —-15

SOLUTION:

# 9. If John goes to school by bus and walks back, he travels for 3 hours. If he goes by bus both
ways, he travels for 1 hour. How long does it take him if he walks both ways?

(A) 3.5 hours (B) 4 hours (C) 4.5 hours (D) 5 hours (E) 5.5 hours

SOLUTION: Since he needs 1 hour if he goes both ways by bus, it means he needs half an hour for
each bus trip. As he needs 3 hours if he goes to school by bus and returns by walking, he needs 3 — %
= 2.5 hours for the walking part. So totally 2x2,5 = 5 hours for both trips on foot.

# 10. A number is written in each cell of a 3 x 3 square. Unfortunately the numbers are not visible
because they are covered in ink. However, the sum of the numbers in each row and the sum of the
numbers in two of the columns are all known, as shown by the arrows on the diagram. What is the
sum of the numbers in the third column?

24
26
40
27 20 7
(A) 41 (B) 43 (C) 44 (D) 45 (E) 47

SOLUTION: Sum of all rows equals sum of all columns, so missing number is 24426 +40—27—20 = 43.
Example: 5811 // 6812 // 16 4 20

# 11. The shortest path from Atown to Cetown runs through Betown. The two signposts shown are
set up along this path. What distance was written on the broken sign?

[ ]
[ 1

|Cetown 9 km |Cetown 4 km
(A) 1 km (B) 3 km (C) 4 km (D) 5 km (E) 9 km
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SOLUTION:

# 12. Anna wants to walk 5 km on average each day in March. At bedtime on 16th March, she
realised that she had walked 95 km so far. What distance does she need to walk on average for the
remaining days of the month to achieve her target?

(A) 5.4 km (B) 5 km (C) 4 km (D) 3.6 km (E) 3.1 km

SOLUTION:

# 13. Which of the following shows what you would see when the the object in the diagram is viewed
from above?

(A) g (B)

SOLUTION:

(C) (D) (E)

# 14. Every pupil in a class either swims or dances or both. Three fifths of the class swim and three
fifths dance. Five pupils both swim and dance. How many pupils are in the class?

(A) 15 (B) 20 (C) 25 (D) 30 (E) 35

SOLUTION:

# 15. Sacha’s garden has the shape shown. All the sides are either parallel or perpendicular to each
other. Some of the dimensions are shown in the diagram. What is the perimeter of Sacha’s garden?

5

(A) 22 (B) 23 (C) 24 (D) 25 (E) 26

SOLUTION: More generally the perimeter is 2(a+b+c) as is easily seen if you observe that a; +as+az =

R »
»

bz di1

A

a2

as
b1 : C
aand by +by =b. ¥ . (Don’t change the name please. This is a

tribute to a Cadet legend!)




KSF 2020 - finalized problems Cadet

# 16. Andrew buys 27 identical small cubes, each with two adjacent faces painted red. He then uses
all of these cubes to build a large cube. What is the largest number of completely red faces of the
large cube that he can make?

(A)2 (B) 3 (C) 4 (D)5 (E) 6
SoLUTION: (Don’t change the name please. This is a tribute to a Cadet legend!)

# 17. A large square consists of four identical rectangles and a small square. The area of the large
square is 49 cm? and the length of the diagonal AB of one of the rectangles is 5 cm. What is the area
of the small square?

B

(A) 1 cm? (B) 4 cm? (C) 9 cm? (D) 16 cm? (E) 25 cm?
SOLUTION:

# 18. Werner’s salary is 20% of his boss’s salary. By what percentage should Werner’s salary increase
to become equal to his boss’s salary?

(A) 80% (B) 120% (C) 180% (D) 400% (E) 520%
SOLUTION:

# 19. Irene made a ”city” with identical wooden cubes. One of the diagrams shows the view from
above the ”city” and the other the view from one of the sides. However, it is not known from which
side the side view was taken. What is the largest number of cubes that Irene could have used?

O O

O | O
o0 ﬂ
oo 0 OHo
(B) 24

SOLUTION:

(C) 23 (D) 22 (E) 21

# 20. Aisha has a strip of paper with the numbers 1, 2, 3, 4 and 5 written in five cells as shown.
She folds the strip so that the cells overlap, forming 5 layers.

11213145

Which of the following configurations, from top layer to bottom layer, is it not possible to obtain?

(A)3,5,4,2,1 (B)3,4,5,1,2 (C)3,2,1,4,5 (D)3,1,2,4,5 (E)3,4,2,1,5
SOLUTION:

# 21. Twelve coloured cubes are arranged in a row. There are 3 blue cubes, 2 yellow cubes, 3 red
cubes and 4 green cubes but not in that order. There is a yellow cube at one end and a red cube at

4
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the other end. The red cubes are all touching. The green cubes are also all touching. The tenth cube
from the left is blue. What colour is the cube sixth from the left?

(A) green (B) yellow (C) blue (D) red (E) red or blue
SOLUTION:

# 22. Zaida took a square piece of paper and folded two of its sides to the diagonal, as shown, to
obtain a quadrilateral. What is the size of the largest angle of the quadrilateral?

(A) 112.5° (B) 120° (C) 125° (D) 135° (E) 150°
SOLUTION:

# 23. How many four-digit numbers A are there, such that half of the number A is divisible by 2, a
third of A is divisible by 3 and a fifth of A is divisible by 57

(A) 1 (B)7 (C)9 (D) 10 (E) 11
SOLUTION:

# 24. In the final of the dancing competition, each of the three members of the jury gives the five
competitors 0 points, 1 point, 2 points, 3 points or 4 points. No two competitors get the same mark
from any individual judge. Adam knows all the sums of the marks and a few single marks, as shown.
How many points did Adam get from judge 1117

Adam | Berta | Clara | David | Emil
I 2 0
[ 2 0
1
| Sum | 7| 5| 3] 41 11
(A)0 (B)1 (C)2 (D)3 (E) 4

SOLUTION:

# 25. Saniya writes a positive integer on each edge of a square. She also writes at each vertex the
product of the numbers on the two edges that meet at that vertex. The sum of the numbers at the
vertices is 15. What is the sum of the numbers on the edges of the square?

(A)6 (B)7 (C)8 (D) 10 (E) 15
SOLUTION:

# 26. Sophia has 52 identical isosceles right-angled triangles. She wants to make a square using
some of them. How many different sized squares can she make?

(A)6 B)7 (C) 8 (D)9 (E) 10
SOLUTION:

# 27. Cleo builds a pyramid with metal spheres. The square base consists of 4 x 4 spheres as shown
in the figure. The floors consist of 3 x 3 spheres, 2 x 2 spheres and a final sphere at the top. At
each point of contact between two spheres, a blob of glue is placed. How many blobs of glue will Cleo
place?
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(A) 72 (B) 85 (C) 88 (D) 92 (E) 96
SOLUTION:
# 28. Four children are in the four corners of a 10 m x 25 m pool. Their trainer is standing somewhere
on one side of the pool. When he calls them, three children get out and walk as short a distance as

possible round the pool to meet him. They walk 50 m in total. What is the shortest distance the
trainer needs to walk to get to the fourth child?

(A) 10 m (B) 12 m (C)15m (D) 20 m (E) 25 m
SOLUTION:

# 29. Anne, Boris and Carl ran a race. They started at the same time, and their speeds were
constant. When Anne finished, Boris had 15 m to run and Carl had 35 m to run. When Boris
finished, Carl had 22 m to run. What is the distance they ran?

(A) 135 m (B) 140 m (C) 150 m (D) 165 m (E) 175 m
SOLUTION:

30. The statements below give clues to the identity of a four-digit number.

Two digits are correct but in the wrong places.
@@ One digit is correct and in the right place.

@@ Two digits are correct with one of them being in the right place and the other one
in the wrong place.

One digit is correct but in the wrong place.
@ None of the digits are correct.

What is the last digit of the four-digit number?
(A)0 (B) 1 (C)3 (D)5 (E)9

SOLUTION:
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